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Microstrip calculations 
 
For er = 10.2 
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Using this calculated value of W/h = 0.94 it is possible to calculate the line width required to 
give us a 50Ω line. 
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h = 0.635  therefore W = 0.635 * 0.94  =    0.59mm 
 
Using this calculated value of W/h = 0.94 it is possible to calculate the effective dielectric 
constant:- 
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Length of transmission line can now be calculated:- 
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Calculation of micro-strip series inductor 
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Calculation of micro-strip shunt inductor 
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Calculation of micro-strip shunt capacitor 
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Series C are realised using chip capacitors, Inter-digital capacitors or gaps in tracks. 


